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&5 X 4 r:f 'Fim(:])a)ﬁﬁﬁﬁ jj(g;;tn:é)é X 4 Tlﬁﬁﬁgﬁz(?n;k:F .(:.ﬁmz;k jj(ﬁjtn:é)é X 4 '(Em%k J:Jﬁﬁ?b(:)a)tbla jj(lfifnié X 4 J:Jnﬁb(z)d)tt.a .z.n? jj(lf')\lztﬁé
7 100kN/ Mm% 5 — - ~ — —|3mZEBZB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3m%iBZ % - ~ — — —
Fhst 100|000 ~ 382 47.98 | FnLS | 000 ~ 382|212 11.36 Fhest 1.00 | 500 ~ 5.00 47.98 | #hst | 500 ~ 500|212 11.56
2 100kN/m%x#8z5 | 1.00 | 000 ~ 1.05| 11581 |3mx#Bz3| — ~ — — — | 100kN/ %8825 | 1.00 | 10.74 ~ 1427| 11581 |3m%E#Z5 - ~ — — —
Fhst 100|105 ~ 884\ 100.00| Fhist | 000 ~ 884 2.09 11.20 ZFhst 1.00 | 5.00 ~ 1074 100.00| Ths | 6,00 ~ 1427 2.09 11.20
3 100kN/m%#8%% | 1.00 | 000 ~ 1.58| 12420 |3mE#BZ%| — ~ — — — | 100kN/ %825 | 1.00 | 1060 ~ 1629| 12420 |3m%E#BZ5 - ~ — — —
Fhst 1.00| 158 ~ 937\ 100.00| Fhbst | 000 ~ 937|232 12.89 ZFhst 1.00 | 5.00 ~ 1060 100.00| ThS | 600 ~ 1629| 2.32 12.59
4 100kN/mM%{BZ 5 — - ~ — —|3mZEBZB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3m%i#BZ % - ~ — — —
Fhst 1.00 | 000 ~ 482 60.04 | TS | 0.00 ~ 482 1.87 10.00 Fhst 1.00 | 500 ~ 527 60.04 | TnLS | .00 ~ 527| 1.87 10.00
5 100kN/mM%{BZ 5 — - ~ — —|3mZEBZB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3m%iBZ % - ~ — — —
Fhst 1.00 | 000 ~ 468 5836 | #hs | 000 ~ 468| 1.83 9.81 Fhst 1.00 | 500 ~ 5.00 5836 | Thst | 500 ~ 5.00| 1.83 9.81
P 100kN/mM%E{BZ 5 — - ~ — —|3mZEBZB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3m%iBZ % - ~ — — —
Fhst 1.00 | 000 ~ 700 8877 | #0000 ~ 700| 1.93 10.33 Fhst 1.00 | 5.00 ~ 1000 8877 | #hst | 5,00 ~ 1000| 1.93 10.33
- 100kN/m%E#8z5 | 1.00 | 000 ~ 1.36| 120.65 |3mx#Bz3| — ~ — — — | 100kN/m%E#BZ25 | 1.00 | 10.76 ~ 1509 120.65 |3mEBZ% - ~ — — —
Fhst 100|136 ~ 915\ 100.00 | Fhis | 000 ~ 915 2.60 13.56 Fhst 1.00 | 5.00 ~ 1076 100.00| Ths | 6,00 ~ 1509 2.60 13.56
P 100kN/m%E#8z5| 1.00 | 000 ~ 1.32| 120.06 |3mZE#z5| — ~ — — — | 100kN/m%E#BZ25 | 1.00 | 11.57 ~ 1608 120.06 |3mE#BZ% - ~ — — —
Fhst 100|132 ~ 911 100.00 | #=nhst | 000 ~ 911|264 14.12 Fhst 1.00 | 5.00 ~ 1157 100.00| Thst | 5.00 ~ 1608| 2.64 14.12
9 100kN/m%E#8z5 | 1.00 | 000 ~ 093 114.02 |3mxE#zZ3| — ~ — — — | 100kN/M#Z#8Z5 | 1.00 | 1071 ~ 13.76| 114.02 |3mE#BZD - ~ — — —
Fhst 100|093 ~ 872 100.00| Fhis | 000 ~ 872|210 11.22 Fhst 1.00 | 5.00 ~ 1071 100.00| Ths | 6,00 ~ 1376 2.10 11.22
10 100kN/m%x#8z5 | 1.00 | 000 ~ 087 11297 |3mx#Bz3| — ~ — — — | 100kN/ %825 | 1.00 | 10564 ~ 1308| 11297 |3m&E#Z5 - ~ — — —
Fhst 1.001087 ~ 865\ 100.00| Fhist | 000 ~ 865|222 11.85 Fhst 1.00 | 5.00 ~ 1054 100.00| Ths | 5,00 ~ 1308| 2.22 11.85
11 100kN/mM%E#BZ 5 — - ~ — —|3mEBZB| — ~ — — — | 100kN/m%#8% % — - ~ — —|3m%iBZ % - ~ — — —
Fhst 100|000 ~ 665 8398 | #nst | 000 ~ 0.00| 1.62 8.66 Fhst 1.00 | 500 ~ 848 83.98 | #hst | 500 ~ 848| 1.62 8.66
12 100kN/m%x#8z5 | 1.00 | 000 ~ 1.36| 120.69 |3mxE#Ez3| — ~ — — — | 100kN/m%E#BZ25 | 1.00 | 1054 ~ 1505 120.69 |3mE#BZ% - ~ — — —
Fhst 100|136 ~ 915\ 100.00| FhLs | 000 ~ 915|235 12.58 Fhst 1.00 | 500 ~ 1054 100.00 | Thst | 600 ~ 1505|235 12.68
13 100kN/mM%E#BZ 5 — - ~ — —|3mZEBZB| — ~ — — — | 100kN/m%#8% % — - ~ — —|3m%iBZ % - ~ — — —
Fhst 1.00 | 000 ~ 7.30 93.02 | #F0S 000 ~ 730\ 1.73 9.24 Fhst 1.00 | 500 ~ 940 95.02 | #hst | 500 ~ 940\ 1.73 9.24
14 100kN/mM%E{BZ 5 — - ~ — —|3mZEBZB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3m%iBZ % - ~ — — —
Fhst 100|000 ~ 625 7848 | FhLS | 000 ~ 625| 1.76 9.43 Fhst 1.00 | 500 ~ 726 78.48 | TS | .00 ~ 7.26| 1.76 9.43
15 100kN/mM%E{BZ 5 — - ~ — —|3mEBZB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3m%iBZ % - ~ — — —
Fhst 1.00 | 000 ~ 462 57.65 | #nLs | 000 ~ 462|232 12.43 FhLst 1.00 | 500 ~ 821 57.65 | Thst | 5,00 ~ 821|232 12.43
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&5 X 4 Er%:s 'Fﬁﬁh\(ﬁ)d)ﬁﬁﬁﬁ jj(iifn?)é X 4 'Fﬁﬁ‘ﬁé;g;kzlz z.%r'n%k jj(ﬁ?tnié X 4 E'%_m? J:ﬁﬁ'ﬁ?b‘(?)@tb% jj(lfifn?)é X 4 J:ﬁﬁf)‘(if)tt% ‘(.%.;? jj(lf')\itr:é
16 100kN/ Mm% 5 — - ~ — —|3mZEBZB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3m%iBZ % - ~ — — —
s 1.00 | 0.00 ~ 382 48.05 | FnLSY | 000 ~ 382|212 11.36 st 1.00 | 6.00 ~ 5.00 48.05 | =hLS | .00 ~ 65.00| 2.12 11.56
100kN/mM%E{BZ 5 ~ 3ImEAD ~ 100kN/m%#B% % ~ IMERBZD ~
zhst ~ Fhst ~ ZFhst ~ ZFhust ~
100kN/mM%E{BZ 5 ~ 3ImEAD ~ 100kN/m%#B% % ~ IMERBZD ~
zhst ~ Fhst ~ ZFhst ~ ZFhLst ~
100kN/mM%{BZ 5 ~ 3ImEAD ~ 100kN/m%#B% % ~ IMERBZD ~
zhst ~ ZFhst ~ Fhst ~ Fhust ~
100kN/mM%{BZ 5 ~ 3ImEAD ~ 100kN/m%#B% % ~ IMERBZD ~
zhst ~ ZFhst ~ Fhst ~ Fhust ~
100kN/mM%E{BZ 5 ~ 3ImEEBAD ~ 100kN/m%#B% % ~ IMERBZD ~
zhst ~ Fhst ~ Fhst ~ ZFhust ~
100kN/mM%{BZ % ~ 3ImEAD ~ 100kN/m%#B% % ~ IMERBZD ~
zhst ~ ZFhst ~ Fhst ~ Fhust ~
100kN/mM%E{BZ 5 ~ 3ImEBAD ~ 100kN/m%#B% % ~ IMERBZD ~
zhst ~ Fhst ~ Fhst ~ ZFhLst ~
100kN/ Mm% 5 ~ 3ImEAD ~ 100kN/m%#B% % ~ IMERBZD ~
zhst ~ ZFhst ~ Fhst ~ ZFhLst ~
100kN/mM%E{BZ 5 ~ 3ImEBAD ~ 100kN/m%#B% % ~ IMERBZD ~
zhst ~ Fhst ~ Fhst ~ ZFhLst ~
100kN/mM%E#BZ 5 ~ ImEBAD ~ 100kN/m%#B% % ~ IMERBZD ~
zhst ~ Fhst ~ Fhst ~ ZFhust ~
100kN/mM%E{BZ 5 ~ 3ImEAD ~ 100kN/m%#B% % ~ IMERBZD ~
zhst ~ Fhst ~ Fhst ~ ZFhLst ~
100kN/mM%E#BZ 5 ~ 3ImEBAD ~ 100kN/m%#B% % ~ IMERBZD ~
zhst ~ Fhst ~ Fhst ~ ZFhLst ~
100kN/mM%E{BZ 5 ~ 3ImEBAD ~ 100kN/ m%#B% % ~ ImERBZD ~
zhst ~ ZFhst ~ Fhst ~ Fhust ~
100kN/mM%E{BZ 5 ~ 3ImEEBAD ~ 100kN/m%#B% % ~ ImERBZD ~
zhLst ~ FhLst ~ FhLst ~ ZFhLst ~

g |



